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 �елO9 F6ет 
 !=86е==O9 D4EEод клеO 

 '6ел8Gе==ое откDOтое 6Dе<O 8 6Dе<O коDDект8Dо6к8 

 ДлO Eло6=OE деDоD<8DуNI8EEO оE=о64=89 

 �4кE8<4лP=4O пDоG=оEтP EFепле=8O E оE=о64=8е< 

О�Л�!&0 � �������Я 

Кле9 5елO9 лU7к89 E6еDEQл4Eт8G=O9 ОE=о68т �4кE8пл8кE �!17 LEW S2 

пDед=47=4Gе= длO о5л8Fо6к8 Eте= 8 поло6 пл8т4<8 87 <D4<оD4, F6ет=о9 8 
пDо7D4G=о9 EтеклO==о9 пл8тко9, декоD4т86=о9 <о748ко9, Eтекло5лок4<8, 
7D4=8то<, =4туD4лP=O< 8 8EкуEEт6е==O< к4<=е<. �е 87<е=Oет F6ет о5л8Fо6оG=OE 
<4теD84ло6.  еко<е=дуетEO длO о5л8Fо6к8 8EкуEEт6е==OE 6одое<о6, G4H 
54EEе9=о6, к4<8=о6. �о6ет пD8<е=OтPEO длO о5л8Fо6к8 54лко=о6, теDD4E, Fоколе9, 
D4E4до6, поло6 E подо7Dе6о<. ДлO 6=утDе==8E 8 =4Dу6=OE D45от. 

 �КО����'��/� О!�О����Я 
�ето==Oе, оHтук4туDе==Oе, к8Dп8G=Oе оE=о64=8O, <олодо9 5ето= (<е=ее 3 <еEOFе6), пе=о- 8 747о5ето=, �КЛ 8 ��Л, 
Ц!�, Eт4D4O пл8тк4, кD4Eк4, 78дDо87олOF8O, 4 т4к6е деDе6о, D4=еD4, Д!� 6=утD8 по<еIе=89. 
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 Кл4EE по �О!&   56387-2018 C2TE S2 

Ц6ет 5елO9 

�DоG=оEтP клее6о7о Eоед8=е=8O поEле 6OдеD6864=8O 6 6о7дуH=о-EуEо9 EDеде =е <е=ее 2 ��4 

�DоG=оEтP клее6о7о Eоед8=е=8O поEле 6OдеD6864=8O 6 6од=о9 EDеде =е <е=ее 1,4 ��4 

�DоG=оEтP клее6о7о Eоед8=е=8O поEле 6OдеD6864=8O пD8 6OEок8E те<пеD4туD4E =е <е=ее 1,5 ��4 

�DоG=оEтP клее6о7о Eоед8=е=8O поEле F8кл8GеEко7о 74<оD46864=8O 8 отт4864=8O =е <е=ее 1,6 ��4 

 4EEод E<еE8 пD8 Eлое 1 << 0,6 к7/<² 
 4EEод 6одO =4 1 к7 EуEо9 E<еE8 0,35-0,37 л 

 еко<е=дуе<4O толI8=4 EлоO 1-12 << 

�87=еEпоEо5=оEтP D4Eт6оD4 3 G4E4 

ОткDOтое 6Dе<O 30 <8=ут 
�Dе<O коDDект8Dо6к8 пл8тк8 30 <8=ут 
'Eто9G86оEтP к Eпол74=8N 0 << 

�еE о5л8Fо6оG=о7о <4теD84л4 лN5о9 

�4т8D4=8е H6о6 GеDе7 24 G4E4 

&еE=оло78GеEк89 пDоEод GеDе7 24 G4E4 

�оDо7оEто9коEтP 150 F8кло6 

�4кE8<4лP=4O DD4кF8O 0,315 << 

&е<пеD4туD4 окDу64NIе9 EDедO 8 оE=о64=8O пD8 =4=еEе=88 +5°!&+30°! 

&е<пеD4туD4 QкEплу4т4F88 -50°!&+80°! 

!Dок ED4=е=8O 6 =епо6Dе6де==о9 746одEко9 уп4ко6ке 6 EуEо< по<еIе=88 12 <еEOFе6 

�еE уп4ко6к8 12,5 к7 
  �!ХО� 
 Дл8=4 EтоDо=O пл8тк8  47<еD 7у54 Hп4телO, << &олI8=4 клее6о7о EлоO, <<  4EEод E<еE8, к7/<² 
до 15 E< 4 2 1,2 

до 30 E< 6 3 1,8 

до 60 E< 8 4 2,4 

до 100 E< 10 5 3,0 
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�елO9 Fе<е=т, DD4кF8о=8Dо64==O9 пеEок, <од8D8F8DуNI8е до546к8. 
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ОE=о64=8е под о5л8Fо6оG=Oе D45отO дол6=о 5OтP EуE8<, о5л4д4тP доEт4тоG=о9 пDоG=оEтPN 8 Eоот6етEт6о64тP 
тDе5о64=8O< 4кту4лP=о9 Dед4кF88 !� 71.13330 8 !� 163.1325800 пD8 �КЛ 6 к4GеEт6е оE=о64=8O.  �=4G8телP=Oе 
=еDо6=оEт8 =ео5Eод8<о 6ODо6=OтP <4теD84л4<8 О!�О��& (Hтук4туDк8, EтO6к8, =4л86=Oе полO) 6 7468E8<оEт8 от 
т8п4 оE=о64=8O 8 уEло689 QкEплу4т4F88. �о6еDE=оEтP оE=о64=8O =ео5Eод8<о оG8Eт8тP от пOл8, <4EлO=OE пOте=, 
Eоле9, оEOп4NI8EEO Qле<е=то6 8 лN5OE дDу78E 747DO7=е=89, <еH4NI8E EFепле=8N клее6о7о <4теD84л4 E 
по6еDE=оEтPN. �76еEтко6Oе Hтук4туDк8, Hп4кле6к8 8 по5елк8 =ео5Eод8<о E<OтP до оE=о64=8O. О5D45от4тP 
по6еDE=оEтP 7Dу=то< О!�О��& 6 7468E8<оEт8 от т8п4 оE=о64=8O. К46дO9 поEледуNI89 Eло9 7Dу=т4 =4=оE8тP поEле 
пол=о7о 6OEOE4=8O пDедOдуIе7о. �4пDеIе=о 8EполP7о64тP 7Dу=тO кл4EE4 «�ето=око=т4кт». �е допуEк4тP 
поEледуNIее 747DO7=е=8е 747Dу=то64==OE по6еDE=оEте9. 
� ��О&О�Л����  �!&�О � 

ДлO пD87ото6ле=8O D4Eт6оD4 8EполP7о64тP толPко G8EтOе е<коEт8, 8=EтDу<е=тO 8 6оду. !одеD68<ое <еHк4 пD8 
поEтоO==о< пеDе<еH864=88 6OEOп4тP 6 U<коEтP E =ео5Eод8<O< кол8GеEт6о< G8Eто9 6одO. Кол8GеEт6о 6одO 
EтDо7о Dе7л4<е=т8Dо64=о теE=8GеEк8<8 E4D4ктеD8Eт8к4<8 пDодукF88! �еDе<еH4тP E<еEP E по<оIPN 
пDоDеEE8о=4лP=о7о EтDо8телP=о7о <8кEеD4 8л8 QлектDодDел8 E Eоот6етEт6уNIе9 =4E4дко9 до о5D47о64=8O 
од=оDод=о9 <4EEO 5е7 ко<ко6. �оEле пеDе<еH864=8O D4Eт6оD4 6OдеD64тP теE=оло78GеEкуN п4у7у 3-5 <8=ут, 
=ео5Eод8<уN длO 4кт864F88 E8<8GеEк8E ко<по=е=то6 E<еE8, 74те< по6тоD=о пеDе<еH4тP. �EполP7о64тP 7ото6O9 
D4Eт6оD =ео5Eод8<о 6 теGе=8е 3 G4Eо6 E <о<е=т4 74т6оDе=8O 6одо9. �D8 по6OHе=88 6O7коEт8 D4Eт6оD4 6 U<коEт8 
(6 пDедел4E 6Dе<е=8 687=еEпоEо5=оEт8) =ео5Eод8<о тI4телP=о пеDе<еH4тP е7о 5е7 до546ле=8O 6одO. �е 
допуEк4етEO 6=оE8тP 6 пD87ото6ле==O9 D4Eт6оD допол=8телP=Oе EоEт46лONI8е. 
����!���� 

! по<оIPN келP<O 8л8 плоEко7о Hп4телO клее6о9 D4Eт6оD =4=еEт8 8 D46=о<еD=о D4EпDедел8тP по по6еDE=оEт8 
оE=о64=8O, 74те< E по<оIPN 7у5G4то7о Hп4телO Eо7д4тP 7Dе5е=G4тO9 Eло9. �D8 пD8кле864=88 кDуп=оDоD<4т=OE 
пл8т – =4=еEт8 D46=о<еD=O9 Eло9 клеO 8 =4 по6еDE=оEтP пл8тO.  еко<е=дуе<4O толI8=4 EлоO (6 7468E8<оEт8 от 
т8п4 оE=о64=8O 8 D47<еD4 пл8тк8) – 1-12 <<. 'ло68тP о5л8Fо6оG=O9 <4теD84л =4 клее6о9 Eло9, пD864тP е7о E 
=екотоDO< уE8л8е< к оE=о64=8N, 74D8кE8Dо64тP =4 =еEколPко Eеку=д 8 откоDDект8Dо64тP поло6е=8е пл8тк8 по 
уDо6=N. �л8тк4 дол6=4 5OтP уло6е=4 =4 оE=о64=8е 6 теGе=8е 30 <8=ут поEле =4=еEе=8O D4Eт6оD4. КоDDект8Dо6к4 
пл8тк8 6о7<о6=4 6 теGе=8е 30 <8=ут. 
� пDоFеEEе D45отO 8 6 поEледуNI8е 48 G4Eо6 те<пеD4туD4 6о7дуE4 8 оE=о64=8O дол6=4 5OтP =е =86е +5°! 8 =е 
6OHе +30°!, 6л46=оEтP 6о7дуE4 =е дол6=4 пDе6OH4тP 70 %. �8=8<4лP=4O пDоG=оEтP, доEт4тоG=4O длO 
теE=оло78GеEко7о пDоEод4 по по6еDE=оEт8 8 74т8DоG=OE D45от доEт874етEO =е D4=ее Gе< GеDе7 24 G4E4. Ш6O пеDед 
74т8Dко9 =ео5Eод8<о оG8Eт8тP от оEт4тко6 пл8тоG=о7о клеO 8 о5еEпOл8тP. !8Eте<у «&еплO9 пол» допуEк4етEO 
6клNG4тP =е D4=ее Gе< GеDе7 28 Eуток поEле укл4дк8 пл8тк8. 
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 �D8 D45оте 8EполP7о64тP EпеFоде6ду 8 EDедEт64 8=д868ду4лP=о9 74I8тO оD74=о6 дOE4=8O, 7Dе=8O, ко6=OE 
покDо6о6. �D8 поп4д4=88 D4Eт6оD4 6 7л474 пDо<OтP 8E 5олPH8< кол8GеEт6о< 6одO 8 о5D4т8тPEO к 6D4Gу. �оEле 
6Oпол=е=8O D45от 8EполP7уе<Oе 8=EтDу<е=тO 8 о5оDудо64=8е =ео5Eод8<о тI4телP=о пDо<OтP G8Eто9 6одо9, 
пDедот6D4т86 74т6еDде64=8е D4Eт6оD4. �еDеGP от дете9. 

� FелOE Eо6еDHе=Eт6о64=8O теE=оло789, ООО «!едDуE» EоED4=Oет 74 Eо5о9 пD46о 6=оE8тP 87<е=е=8O 6 
пDодукF8N, =е 74тD47864NI8е еU оE=о6=Oе E4D4ктеD8Eт8к8, 6=оE8тP 87<е=е=8O 6 д4==уN теE=8GеEкуN к4Dту. 
&еE=8GеEк4O к4Dт4 =е от<е=Oет Eо5лNде=8е EтDо8телP=OE =оD< 8 пD468л  Ф 8 =е 74<е=Oет =ео5Eод8<уN длO 
д4==о7о 68д4 D45от пDоDеEE8о=4лP=уN под7ото6ку 8Eпол=8телO. �Dо876од8телP =е =еEет от6етEт6е==оEт8 74 
=4DуHе=8е теE=оло788 пDо6еде=8O D45от, 4 т4к6е 74 пD8<е=е=8е пDодукF88 6 FелOE 8 уEло68OE, =е ук474==OE 6 
д4==о9 теE=8GеEко9 к4Dте. �Eе пDоG=оEт=Oе E4D4ктеD8Eт8к8 ук474=O длO о5D47Fо6 пDодукF88, 6OдеD64==OE 6 
теGе=8е 28 Eуток. ! поO6ле=8е< =4EтоOIе9 теE=8GеEко9 к4DтO 6Eе пDедOдуI8е 6еDE88 Eт4=о6OтEO 
=еде9Eт68телP=O<8.                                                                                                                                                                                                      ВеDEия 01.21 


